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Teacher, Students

 

Teacher:
Now, my input column.  What should I label my input column as based on what you’ve got right there.  Student A?

 

Student:
Number.

 

Teacher:
Number of what?

 

Student:
Of rounds.

 

Teacher:
Number of rounds, okay?  What will I label my output column as?  Student Z?

 

Student:
Number of pennies.

 

Teacher:
Number of pennies.  Okay, good.  So it says here on our chart, it says that starts with how much money, 95 pennies, okay?  And we can put starts with or we can put zero round, ‘cause again, I keep on trying to push you to get to that zero in the input column.  I said before this is called the Y intercept.  What it means is here’s my Y axis, here’s my X axis.  It means that when the input is zero, that is where the line or the graph, it’s where it crosses the Y axis.  That’s what that starts with place is or that zero place it’s the Y intercept.  And you need it not just for the graph, but also for the algebraic equation, okay?

 

Student:
[Inaudible] 

 

Teacher:
Right.  If they’d started me with day 1 at 91, then I’d have gone back.  Instead of taking away, this time I’d have added, okay?  But they actually give me the 95, so I don’t have to do all that work, but I like that you’re thinking about that.  Student K had some great thinking about it earlier as well.  I just need you geared up for that.  When you’re dealing with graphing and you’re dealing with the algebra, okay, I need you to think, I need that zero.  Zero in the input column, okay?  So I go from zero, from the starts with round at 95 to round 1 at 91 to round 2 at what? Student L?

 

Student:
To 83 – 87.

 

Teacher:
87.  Student A?

 

Student:
83.

 

Teacher:
Student T?

 

Student:
79

 

Teacher:
Student G?

 

Student:
79.

 

Teacher:
70 what?

 

Student:
Nine.

 

Teacher:
No.  Shh.  Student E?

 

Student:
71

 

Teacher:
Student R?

 

Student:
67

 

Teacher:
60 what?

 

Student:
67

 

Teacher:
Student A?

 

Student:
63.

 

Teacher:
63, okay.  So one big part of graphing is right here.  The other big part of graphing is right here.  What’s happening when I go down that column, okay?  With this one, we haven’t figure out yet how to go across, but we do know how to go down that column.  What’s happening as I go from round one to round two to round three to round four?  Student P?

Student:
Take away four.  

 

Teacher:
I’m taking away four each time.  That’s my constant rate of change.  Every single time I’m taking away four pennies, okay?  And so I keep going and I keep going and I keep going, and eventually from here it starts with a  95 to day 1, I take away four, I take away four, I take away four, I take away four, I take away four, I take away four, I take away four, I take away four.  And great.
 

Now, at some point in time, it wants to know, the worksheet asks, not what happens at round zero, but the worksheets asks when will you arrive at zero pennies.  And there are some really, really great responses. I really, really love some of these responses, okay?  Anybody care to share some of their responses with their class?  On what round will we arrive at zero pennies?  Student M?

 

Student:
Four.

 

Teacher:
At round four we’re gonna arrive at zero pennies?  You told me something earlier, Student M, and I’m calling on you ‘cause I want to hear that again for the whole class.

 

Student:
You take four away from that, [Inaudible]
 

Teacher:
So that’s what you wrote earlier and I asked you will it ever get down to four pennies.  And what did you say to that?

 

Student:
Never. 
 

Teacher:
Why won’t it get down to four pennies, Student M.

 

Student:
Because it starts at 95.

 

Teacher:
Okay.  So Student M had some idea about starting at 95.  He’s got some idea about what’s happening with this particular problem and he knows he cannot get to 95 skip counting by fours, okay?  So it’s not ever going to get down to zero is what Student M said, okay?  Anybody else agree with him or disagree with him?  Student F, I’m waiting on you.  Yeah?

 

Student:
I think it will because it will always be odd.  

 

Teacher:
Okay, so Student R is noticing something else.  I’ve got 95, 91, 87, 83, 79, 75, and every single one of those numbers is what?

 

Student:
Odd.

 

Teacher:
Every single one of those numbers is odd.  What about this guy?  

Student: 
Odd.
Teacher: 
This is odd?
 

Student:
[Inaudible]
 

Teacher:
Zero is an even number and that’s a whole lot more complicated than we want to get to right now.  But it won’t get to zero because zero isn’t odd like these other ones.  So Student M had one really great reason. Student R gave us another.  These are all odd numbers.  The closest we’re gonna get is an odd number somewhere close to zero, okay?
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